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Solution

o

determine Ry:
ting point is at Vep =7Vand I-=1mA
Vee—V, 12=
o= ce 12-7 _ 5KQ
Ic 1x1073
Slec 1 %ag™

A= =0000s 1o

Iy

the relation,

_Yec=Vae—IcRe 12-07-1x1072 x5 x 10°

B A 10% 10-5 =630 k¢
3
ty factor, S = —Lﬁ—“
C
+ ———————
L& RC+RB]
1+
Slc::]ma = 56.5
1+100|—————
(5 + 630) x 10°

% determine new operating point when p = 50
Vee = BIgRc+ IR+ Vg
=Ip(BRc+ Rp) + Vg

12 = I5(50 x 5 x 10* + 630 x 10%) + 0.7

I 11.3

i Iy =——2—= 1284 A

; 2~ 880 % 10° p

Beore, Ic =Bl =50 % 12.84 % 1075 = 0,642 mA

Vee =Vee—IcRe=12-0.642x 103 x 5 x 10°=8.79 V
Bes=fore, the coordinates of the new operating point are Vegp =879V and Icp=0.642 mA.

Q2. Refer Millman, Halkias and Parikh, Second Edition book.

Q3. Refer Millman, Halkias and Parikh, Second Edition book.



Q4. Done in the class.

Q5.

To determine the quiescent point:
We know that the collector to base bias transistor circuit

Vee = BIgRc+ IR, + Ve
Vee— Vae
Rg+ P Rc

10-0.7
= =46.5
100x103+50x2x10+3 “‘A

s Iy =

Ie = BIy=50 X 46.5 x 106 = 2,325 mA

Ver = Vee~IcRe=10-2325 x 103 x 2 x 10° = 5.35 v
» the co-ordinates of the new operating point are

Verp =5.35 Vand I, = 2.325 mA
the stability factor S-
s Y e % 148

o Rc"‘RBJ
F 1+50

1+so[ 2 3]
2x10°+ 100 x 10

=25.75




